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® Use black ink or ball-point pen.
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® Answer all questions.
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written communication will be assessed.
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® Keep an eye on the time.

® Try to answer every question.

® Check your answers if you have time at the end.
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1. Two groups of people are trying to lose weight.

(a) Group A join a gym.

The graph shows information about their weight loss after one month.

A

Cumulative

frequency

O 05 10 15 20 25 30 345 440
Weight loss (kilograms)

| (i) How many people are in group A?

60

(ii) Does everyone in group A lose weight?
Write down how you decide.

Yes — the bf&\(’k S\Aéﬁ&i&s that the
Aiaitmum Wedleht Loss was no less

Eheawes DO-% lg"é
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(b) Group B follow a diet.

The box plot shows information about their weight loss after one

]'nnnf]'\

0.5 0

05 1.0

1.2 20 25 30 35 40 45 50

Weight loss (kilograms)

Does everyone in group B lose
weight?Write down how you

decide.
No — the mmiaimumnm w&b'té)‘r\t loss wes - o .15&{3
vIhick %u«gc()qé\'fz a wu%\\t %a_fn of o©-25 k(a )
(c) Compare the weight loss of group A with group B.
G.rQMP P\ G,'('Ou\‘:) )?)
Median e Q eI
Hinimu m D F - 9.5
Lo A mum 5 4. 5
Roxnée; Lt 2 %w.Z5
Lov\ert Qua\rt'alc 2.9 I 5‘
U pper qu’Hl( 2 W %o 1
Iﬁt.:,(-c"uc«ftl le R“‘Zﬁ 1. ¥ [ &

The median uu%ht loss foe Growp 1B wWwas 1-3h5
o ek thonn Bhak of " Geroup A. Alse, Wight

loss (e Gp B was  roce widdy dispersed &)
ol Bz less congstent  than C’croMp A’'s \,\3&18}\{-

loss .
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2. The box plot gives information about the distribution of the weights of bags on a plane.

— —
| T 1 | | T 1
0 3 10 15 20 25 30
Weight (kg)

(a) Georgina says the lightest bag weighs 10kg.

She is wrong.

Explain why.
I1ORg represents bhe lower quackile . The
-C —k‘ ; ) H e i = )
Ltdhﬂﬁb&gwuékihg ........................................... &
(b) Write down the median weight.
........... l?‘ kg
(1)
(c) Work out the interquartile range of the weights.
& B QO\(\&t w L8P - L.B
- 10 = 3k 13
= 98 O = 13 - S (1;%

There are 240 bags on the plane.

(d) Work out the number of bags with a weight of 23 kg or more.
w-Q (o '::’—5)6L p@ru,nki l&) = J3R 4
3y B S % o Khe digkdbbion v thél'\ A h(c‘) YN Y

8<T 9, of 24O = A X LA O
.S Yo of e peE & "Q‘““a)'
e i-r x LU0 = 6O (Total 5 marks)
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3. David measured the height, in cm, of each tomato plant in his greenhouse.
He used the results to draw the box plot shown below.

Height (cm)

(a) Write down the median height.

................................ cm
ey
(b) Work out the interquartile range.
13- 8 = L, &6 = 1+7 &
............. 22 om
2)
(c) Explain why the interquartile range may be a better measure of spread than the

range.

oLt'Stcaf‘E\’r\ﬂc') efFeck of amomalous wkrm!m{:ui{s.
1)

(Total 4 marks)
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4. The incomplete box plot and table show some information about some marks.

Mark
Lowest mark 5
Lower quartile 1O
Median 30
Upper quartile 35
Highest mark 55

(a) Use the information in the table to complete the box plot.

(b) Use the information in the box plot to complete the table.

Lots more free papers at www.bland.in

(2)

(1)
(Total 3 marks)




5. The table shows a summary of the marks scored by 120 people in a test.

Mark Frequency Cumulative Fr e_ﬁyaw\c».j
0 < mark < 20 8 g
20 < mark < 40 12 A0
40 < mark < 60 46 66
60 < mark < 80 35 (o
80 < mark < 100 19 I AO

(a)  Three-quarters of the people pass the test.

Use a cumulative frequency graph to estimate the pass mark.

A
120 g0

110

100 FrE

VT

80—

Cumulative
frequency

H(Z,Cldhcﬁn

ts
L) =

K F madks ac oce.
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(b) Here is the table again.

Mark Frequency
0 < mark =20 8
20 < mark = 40 12
40 < mark = 60 46
60 << mark < 80 35
80 < mark < 100 19

Two of these 120 people are chosen at random.

(i) Work out the probability that both scored over 60.

28¢9 43! 42+
g230 #l40 2330

S y B3 =

Y= 19
e el
x 53 x4 3+
16 1 '2%0 L;_?:&O
V29290 0 aeas
S iyl CLL @
&H2° % To2co

Work out the probability that one scored over 80 and the other scored 80 or under.
% ([‘>80 anD < 80| oR [ €% AanND > 80] )

= ___ri_(l_e_'_) r _LQ’_(I_GL,

190 119 19 A 19
iq19
130 4280
4 2%0 Efai
(Total 10 marks)
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6. Georgina did a survey about the amounts of money spent by 120 families during summer
holidays.

The cumulative frequency table gives some information about the amounts of money

spent by the 120 families.

Amount (£4) spent Cumulative frequency
0<A4<100 13
0<4<150 25
0<A4<200 42
0<4<250 64
0<A4<300 93
0<A4<350 110
0<4<400 120
(a) On the grid, draw a cumulative frequency diagram.
2
(b) Use your cumulative frequency diagram to estimate the median.
£ . ALO ..
(2)

A survey of the amounts of money spent by 200 families during their Christmas
holidays gave a median of £305

(c) Compare the amounts of money spent at Christmas with the amounts of money
spent in summer.,
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7. The table shows information about the number of felt tip pens in 100 childrens pencil cases.

Number of pens Frequency
0<n<20 18
20<n <40 22
40 <n < 60 35
60 <n < 80 15
80 <n <100 8
100 <n < 120 2

(a) Complete the cumulative frequency table for this information.

Number of pens Cumulative
frequency

0<m<20 18
0<n<40 “G4O
0<n< 60 75
0<n<80 90
0<n<100 C) g
0<n<120 1 OO

(b) On the grid, draw a cumulative frequency graph for your table.
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100

Cumulative

frequency 3

80 =

60 a

40

N

N
— ]

o ]

(0] 20 40 60 80

Number of Pens
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100

(¢) Use your graph to find an estimate for the median number of pens.

120

(Total 4 marks)




8. A company tested 100 batteries.

The table shows information about the number of hours that the batteries lasted.

Time (¢ hours) Frequency
S0st<55 12
55<1<60 21
60 <1<65 36
65<t<70 23
T0s¢t<75 8

(a) Complete the cumulative frequency table for this information.

0y
Time (¢ hours) fin e
frequency
50<¢<55 12
50 <1< 60 373
50 <7< 65 ¢ 9
50<1<70 92
0<6<75 1 OO
(b) On the grid, draw a cumulative frequency graph for your completed table.
(2)
(c) Use your completed graph to find an estimate for the median time.
You must state the units of your answer.
G hours
2
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100

Cumulative

frequency

i

80

S

60

20

50 55 60 65
Time (¢ hours)
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9. The table gives some information about the number of fish caught in a match.

Number of fish Frequency
0<n<20 16
20<n <30 26
30<n<40 23
40 <n < 50 10
50<n <60 5

(a) Write down the modal class interval.

(1)
(b) Complete the cumulative frequency table.
Number of fish (1:;:.:;::;?;
0<n<20 16
0<n<30 [ 9\
0<n<40 65
0<n <50 +5
0<n<60 5O
(1)
(¢) On the grid opposite, draw a cumulative frequency graph for your table.
(2)

(d) Use your graph to find an estimate for

(1) the median number of fish,

(ii) the interquartile range of the number of fish.

wQ-Le@ = 3F— 2% | S nmpisk

=
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(Total 7 marks)
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- 10.  Here are four cumulative frequency diagrams.

j 4

Here are four box plots.

P — — Leallest L.Q => C

Q m Second smallelt L. .Q and small I-Q,Qmac‘

(fe- Steep micklle Seckon) with Ha‘n\~3 di gpeeeed
m \ ast 2.5 Yy i Sh\llowfsffwue{\{ )
R s

Bi&)bé\‘ LQ. velue = R =" D

For each box plot, write down the letter of the appropriate cumulative frequency
diagram.
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lenakin
11. The table shows information about the time, m millimetres] 20 tomato plants grow in a week.

"%i;;a(::\millimetres) Frequency
70 <m < 80 i
80 <m < 90 12
90 < m < 100 34
100 <m < 110 32
110 <m < 120 26
120 <m < 130 12

(a) Write down the modal class interval.

(b) Complete the cumulative frequency table.

Lenath,

‘T’rm?(m millimetres) Cumulative frequency
70 <m < 80 4
70 <m < 90 I 6
70 <m < 100 50O
70 <m < 110 s 9
70 <m < 120 1O g
70 < m < 130 1 LO
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(¢) On the grid, draw a cumulative frequency graph for your cumulative frequency table.

A -

120 =

100

80
Cumulative
frequency

60 =

40 -

20 =

|
|
|
|

|
|
—

0 T T T T T -
70 80 90 100 110 120 130
Lu\gck\ﬁme (m millimetres)
(2)
(d) Use your graph to find an estimate for the median.

................ Rl W

(1)
(Total 5 marks)
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